DIAGNOSTIC TEST

PHOTOSYNTHESIS IN PLANTS

Multiple Choice Questions

1.  The green pigment responsible for photosynthesis is:

A. chlorophyll

B. chloroplast

C. variegated

2. The layer of a leaf that does not contain chloroplasts is the:

A. palisade cells

B. spongy cells

C. epidermis

3. Photophosphorylation or Light-Dependent Reaction is also known as the:

A. overall photosynthesis reaction

B. dark reaction

C. light reaction

4. Carbon Fixation or Light-Independent Reaction is also known as the: 

A. overall photosynthesis reaction

B. dark reaction

C. light reaction

5. The wavelengths most readily absorbed by chlorophyll are:

A. green and blue

B. red and green

C. red-orange and violet

6. The transparent layer on the top surface of a leaf is the:

A. epidermis

B. stomata

C. xylem

7. The times of the day when there is insufficient light for photosynthesis are:

A. midday and midnight

B. before and after midday

C. early morning and late afternoon

8. Stomata close when the light intensity is high and water loss from the plant is at its peak. Photosynthesis does not occur at this time. When is this? 

A. early morning

B. late afternoon

C. early afternoon

9. The transport of carbohydrates in a plant is known as:

A. translocation

B. phloem

C. transpiration

10. Water loss from a plant is called:

A. transpiration

B. translocation

C. photosynthesis

True-False Questions

11. Plants photosynthesise only during the daytime and respire only at night.

12. Water enters a plant through the roots and travels upwards through the phloem.

13. Plants store excess glucose as starch whereas humans store excess glucose as glycogen.

14. Stomata remain open all through a 24 hour day.

15. The epidermis acts as a protective barrier in a plant.

Short Answer Questions

16. Explain how guard cells open the stomata.

17. Where are stomata found in an aquatic plant?

18. Where do the reactants of photosynthesis – carbon dioxide and water – enter a plant?

19. Can plants photosynthesise without sunlight? Explain.

20. What factors affect the rate of photosynthesis?
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ANSWERS

1.A  2.C  3.C  4.B   5.C  6.A  7.C  8.C  9.A  10.A  

11.F  12.F  13.T  14.F 15.T

16. When there is sufficient light intensity, the chloroplasts in the guard cells on either side of the stomata begin tho photosynthesise. When they produce a higher level of glucose than the nearby cells of the epidermis, they absorb water from those cells by diffusion. This cause the guard cells to swell and open the stomata.

17. Upper epidermis

18. Carbon dioxide enters through stomata in the leaf and water enters through roots and travel up the leaf through the xylem.

19. Yes. Fluorescent lights which emit red-orange and violet light wavelengths also work.

20. Light intensity, light wavelengths, concentration of carbon dioxide, temperature, lack of water, lack of chlorophyll, closing of stomata

